Name Period Date

CPCTC Practice

Informal Proofs

1. Given: AB=CB, EB= DB

a) Mark the triangles.
b) What other corresponding parts are congruent?

c) Why are the triangles congruent?

d) Whyis AE = CD?

2. Given: /R =/T, /W=,V,RW=TV

a) Mark the triangles.

A
B D
E

C

R T
b) Why are the triangles congruent? M
w S v
A B

D C

c) Whyis ZRSW = /TSV ¢

3. Given: AB= CD, /BAC = /DCA

a) Mark the triangles.

b) What other corresponding parts are congruent?

c) Why are the triangles congruent?

d) Whyis AD = CB?

4. Given: PU= PT, ZUPS = /TPS P

a) Mark the triangles.

b) What other corresponding parts are congruent? U S T

c) Why are the triangles congruent?

d) Why is US = TS 2



Circle the correct answer choice.

9. Which of the following is not valid for proving that triangles are congruent?

A) HL B) AAA C) ASA D) SAS
5. IfAJKL = AJML, what reason justifies the statement ZLKJ = ZLMJ 2 J
A) Definition of bisects C) ASA
B) CPCTC D) Reflexive Property
K L M
6. What information would allow you to prove ARST = APQT by SAS? S P
_ — T
A) Tis the midpoint of SQ . C) T bisects SQ . o
B) Tis the midpoint of RP . D) T bisects both SQ and RP. R Q

7. Given: ADEFand AHJK . To use CPCTC to prove ZF = /K, you must first prove ADEF = AHJK .

A) True B) False
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#8: AHEY is congruent to AMAN by
What other parts of the triangles are congruent by CPCTC?

e 1 1m

H
M
E N
#9:
c ACAT = , by
A THEREFORE:

= , by CPCTC

= , by CPCTC

= , by CPCTC

T P
#10: C R
Given: AC= AR and £1= /2 M
Prove: /3= /4
L S

Proof:
1. AC= AR 1.
2. 2. Given
3. LCAL = ZRAS 3.
4, ALCA = ASRA 4.
h. L3=/4 5.




#11.

Given:

IM =20

Prove:

Proof:

1. ZNLM = ZLNO
2.

3.

4. ALMN=A__
5.

ZNLM = ZLNO and ZOLN =

ZMNL

1.

2. Given

3. Reflexive Property of =
4

5.

#12

Given: AC = BC and AX = BX
Prove: /1= /2

Proof:
1.

2

3. AAXC =
4,

3| 4
1. Given A X B
2. Reflexive Prop. of Congruence
3.
4,

#13

/1= /2 and £Z3 = /4
XY = 7w

Given:
Prove:

Proof:

2. XZ=XZ
3. AXWZ =




A#9-5

NAME DATE PER.
SSS, SAS, & ASA PROOFS w/iCPCTC
14. GIVEN: N is the midpoint of AB X X
AX = NY
NX =~ BY
PROVE: /X = /Y A )
N | =
STATEMENTS REASONS
T

15. GIVEN: RT =RV
TS=VS R S
PROVE: /RST = /RSV

\"/

STATEMENTS REASONS




16. GIVEN: BV bisects ZEBO

A#9-5; Pg. 2

BE ~BO 2 v
PROVE: ABEV = ABOV
(o)
STATEMENTS REASONS
E
17. GIVEN: VB bisects ZEVO
BV bisects ZEBO 1 3NV
PROVE: /E = /0 4
(o)
STATEMENTS REASONS




